E gg% Egﬂ !‘g B10-KY series

sY 8|05 BE CEE IIOIRE/FER)

C€ Rolis

B10-KY series

B10-KY15501-3D  B10-KY15S01-3M B10-KY15S01-3L B10-KY15D02-3L B10-KY15502-3L-02

O AZEEYA ® 2|l=Ed ZgYAl © A
27|5 Rc(PT) (BE) L M 27|15 NBR (&)
G G(PF) LEIRY S2{1 24y | MEIY 5211 24iE Vi Hege ZH;.é_'(HLaij—li—,B1 0-KY 1882t
l
@ Al2|= KRR Z2A| A0 Bl B2t
10 B10-KY10 Al2|Z — ! )
15 B10-KY15 Al2|= | ‘ O A, BHESTE(AIY Hiadtt 4 8)
18 B10-KY18 A[2[Z = DIN Coil + DIN Z4E] oops | BIOKYIOMS, BIOKYIS: 178,
~ . B10-KY18: 1/4
HHE YAl DIN Coil + DIN Z4/E{ ¥ -
® jH :AT' EIGIES z JePEIEY '-H’é?gé c4 B10-KY10: @4 SE{=| I|E
== e *2E PIEN 28 WS 234 ERlACE e BIOKY15: 06 212 IS
cs % E2| 02Ul YAIS 2T 7|2 YRILCH (MRS 94S) cs8 B10-KY18: @8 2IE{2| &
s usd 7 SAWIIAS  B2i1 ZelE] AC220v| HS LEOIBH 28 IS BILIC <
e %DIN T#2: DIN43650C, 9.4m, 2P+1E _
D 223 [%zmz;] g %KY102 D/Z EtY2 s CH @ EE_'—%U(Z_!E HH%%E} 2—1%)
@alcHglo)zo|En ey | IS ol b
2 = [
H |sZ2s s 400m (BE=) F2 | . *fHOI_P _?rIA
5% <EE S3S 293 A3 WH YE LT
= S g 1,000mm LS MBS A uBE de gy BRI
v W20 2,000mn _
W50 5,000mn @ ME H|O|A(H|O|A HZE O 2E)
P *AC220V 32 HE 2UE 31273 (3P) AFBELIC 715 2Y&E7Y g2
J g3 A T T A %ACT10V, DC12/24V: 2p 2HE] 5122 Al2 97|15 = = 01‘9 -
5(R1) 1(1P) 3(R2) o BATY
@ b2 Al ® +3HE 01 1/8 B10-KY10
2k Al — oI5 PL 02 1/4 B10-KY15/18
01 4 s Non-lock push &1(E2) | Push-turn lock & (H1E2) 03 3/8 B10-KY18
02 H| O A HY 2+ N .
YUY HAYEE BECR 22T Y20l
Satoly DIUZEE BALIAL, JfAAS Bag| onz
® A2 ok Los Yo Hee 223 2UAle.
seH[0|ABHEHO| AU CHECR 285 AQo|
1 AC100 50Hz/110V 60Hz XSHL:%EH%—‘?’-%*LML JAso] RAELC K
2 AC200 50Hz/220V 60Hz
3 DC24V
4 DC12V

xFE AR O 2 AC24V, AC48Y, DC48Y, DC100Ve|

ol
HEE Seotl ASHTH

* PERFOR LTA0| 24BILICE
o AFWS RN H|RIHS 245} 3 4 USLICE
[ ]

ZAH| MeEHO =2 PLC L COMPUTERO] /6t 2EE A|ARIO] Z[AL|Ct.

- 10 www.kcepr.com



KCC Lﬁg% ES% (LE? B10-KY series

=Y &30 HE EE II0IRE/FER)

a4 7 AN
A BT BHSTY AILE AR
TR BYSTB (PN A7) B B10-KY10 | B10-KY15 | B10-KY18
#2 | Model P [ A | RIR AESA E T TR
B10-
e M5 o n i S/D 29(0.16) | 9005 | 14.4(08)
FETHA mi(Cv)
e B10- p— H/I/) 2.4(0.13) 7.2(0.4) 10.8(0.6)
o
*;\1(2)5 5 0.15~0.7MPa(1.5 ~ 7.0kgf/ar)
KY18 Rc(PT)1/4 Rc(PT)1/8 A2t D 0.1~0.7MPa(1.0 ~ 7.0kgf/cn)
810 ) H/1/) 0.2~0.7MPa(2.0 ~ 7.0kgf/cr)
B10- Z|ChRIEHIE S/D 10 5 5
G KY15 G(PF1/8 (Cycle/seq) H/1/) 3 3 3 1100
IEJ(?S G(PR)1/4 G(PR1/8 i S 12ms O[5t | 19msO[8t | 31ms O[5t
. SgAlIZ! Olet | 18msOlat | 27msOlst
B10 o5 (0.5MPa) D 10ms
ca M5 4 QE{2|T|E M5 2 _ _ _
KY10 o4 A H/1/) 15ms O[3t | 32ms 0|5t | 50ms Ofst a
c6 BIs | RPTIB | @EREATY | RPDIB 20 238
. =T (T, BRA| EEIR SO VG32EE AILE) KS105
c8 B RPDIA | OBREREEY | RPTI/B ~Eza; PUSH-TURN LOCK 44} KMF0500
) B10- ) ACIO0V | E2] 24EH 1.02VA /1.24VA
KY10 50Hz/110V z KS210
B10- Mararey | 00z | DNZElE - | 350A3.94A KMF1000
- IE{Z e =
GC6  yyis | GPRE | D6 EEAME GPR1/8 < RS 1.58VA/ 1.90VA
s | A% GPP4 | oswEmY | PRI G oy - | 330wmc78wm 20
- szt | pe1zay | ELEHE 1.0W
Port Block NO, NC 23 &7E (FA7|E &R) e DIN 2UEf3 - ‘ 2 7W/3.0W KS530
2% M5 A AC100V 50Hz/110V 60Hz KMF3000
_ : Az AC200V 50Hz/220V 60Hz
s |2l RCPT)1/8 TR KS640
DC DC12/24V KMFA000
s Re(P)1/4 Saaeis Y| £10%
B10- _ FA2E LARRARE -5C ~ +50C (&, 20| 2100k &)
KY10 B KS524
B10- IUHAZF BZ (130C0|3)
@ kY15 G(PF)1/8 ZHSHLAl L= ojo|RE
g G(PP1/4 TOIRE 8714 OlQIS  THOIRE Hgt7| KS534
- B10- Pryp— TEE RS 150/30m/s*
g; 0 B35z Rl KS328
- 9JEx = T |
6 KY15 06 Aef2|m|e 2| Al EaﬂD?NLJ,;é!\é{LEf%)
c8 2% 08 AT KS760
KS341
KMF2341
KS342
KMF2342
KPS542
KCAS
KIAS
KST
KS3135
KS4000

www.kccpr.com - 11



KCC Co., Ltd.

B10-KY series

HOlAAYS(F)
Y &0 ¥E (5EE IO|RE/FeR)
SR
2 ot
7= Plug Connector Type (/=4 Z10] 400mm) DIN Terminal Type (DIN 24IE{ E}Q))
A BEE HE 2 HER| T HExg HEfR| TE
HHSHA(PAB) M5 M5, @4, @A(C4) M5 M5, @4, @A(C4)
AC/DC AC/DC
et Ac/DC Ac/ be DO 24E) | ZE@T+HA) | DOIn 2 | ZRAZ+A)
B10-KY10S01-00 (Single) 529 60g - - - -
B10-KY10D01-0 (Double) 729 80g - - - -
B10-KY10HO01-J (Close Center) 759 839 - - - -
B10-KY10I01-0J (Pressure Center) 759 83g - - - -
B10-KY10J01-0 (Exhaust Center) 759 839 - - - -
ZEEHA(P,AB) Rc(PT)1/8 Rc(PT)1/8, @6, @6(C6) Rc(PT)1/8 Rc(PT)1/8, @6, @6(C6)
B10-KY15501-00 (Single) 689 759 - - 1059 1079
B10-KY15D01-CJ (Double) 829 899 649 689 81g 859
B10-KY15H01-J (Close Center) 879 94g 799 839 154g 158g
g0 K501 (Pressure 879 94g 799 839 1549 1589
eyl (Exhaust 879 94g 799 839 154g 158g
ZHEESA(P,AB) Rc(PT)1/4 Rc(PT)1/4, @8, @8(C8) Rc(PT)1/4 Rc(PT)1/4, @8, @8(C8)
B10-KY18501-1 (Single) 969 1079 1369 1409 1479 1519
B10-KY18D01-I (Double) 1139 1219 1509 1549 1619 1659
B10-KY18H0O1-[J (Close Center) 1209 1299 1589 1629 169g 1739
B10-KY18I01-1 (Pressure Center) 1209 1299 1589 1629 1699 1739
B10-KY18J01-01 (Exhaust Center) 1209 1299 1589 1629 1699 173g
H|O] 2 B2+
= Plug Connector Type (2|/=24 Z10| 400mm) DIN Terminal Type (DIN 24IE{ EFRY)
Arg et AC/DC AC/DC AC/DC
D(DIN 24/&) Z(HI+MZ|)
B10-KY10S02-J (Single) 469 - -
B10-KY10D02-00 (Double) 59¢g - -
B10-KY10H02-O (Close Center) 629 - -
B10-KY10102-00 (Pressure Center) 629 - -
B10-KY10J02-0 (Exhaust Center) 629 - B
B10-KY15S02-J (Single) 569 89g 919
B10-KY15D02-00 (Double) 68g 101g 1039
B10-KY15H02-0 (Close Center) 759 108g 1109
B10-KY15102-00 (Pressure Center) 759 108g 1109
B10-KY15J02-0 (Exhaust Center) 759 108g 1109
B10-KY18S02-J (Single) 81g 1169 1209
B10-KY18D02-01 (Double) 969 131g 1359
B10-KY18H02-O (Close Center) 103g 138g 1429
B10-KY18102-00 (Pressure Center) 1039 138g 1429
B10-KY18J02-0 (Exhaust Center) 103g 138g 1429
ME H|O] A~
=29 =Y
B10-KY10 SUB BASE 369
B10-KY15 SUB BASE 60g
B10-KY 18 SUB BASE 1159

12

www.kccpr.com



KCC ;ﬁ%% Egg— (L;_(}' B10-KY series

oK
2
Uk

2fie0|E HE (5EE IIO|RE/Faw)

=5 o9l g
B10-KY10 B10-KY15 B10-KY18
O|A HjjZtS: O|A B2+ O|A B2+
ae 217 H| 0] A B2+ 217 s H| O] A B2+ 217 jae H| O] A B2+
= UE 28 04 25z O/E LUE 28 04 25z 1|E LE 28 04 25z 1|E
B10- B10- B10- B10- B10- B10- B10- B10- B10-
KYMF1001 | KYMF1002 | KYMFC41002| KYMF1501 | KYMF1502 | KYMFC61002| KYMF1801 | KYMF1802 | KYMFC81002
20 49 126 135 138 205 209 129 550 541
3% 62 148 157 174 263 272 174 641 618
49 73 170 175 210 321 350 219 732 688
5% 84 192 209 246 379 433 264 823 751
6% 95 214 263 282 437 521 309 914 849 100
7% 106 236 321 318 495 614 354 1,005 989 KMEO100
8% 117 258 383 354 553 712 399 1,096 1,136
9% 128 280 449 390 611 815 444 1,187 1,290 Ky
109 139 302 519 426 669 923 489 1,278 1,451
el 150 324 593 462 727 1,036 534 1,369 1,619 KS105
129 161 346 671 498 785 1,154 579 1,460 1,794 KMF0500
13¢1 172 368 753 534 843 1,277 624 1,551 1,976 o
14¢1 183 390 839 570 901 1,405 669 1,642 2.165 KMF1000
15¢1 194 412 929 606 959 1,538 714 1,733 2,361
169 205 434 1,023 642 1,017 1,676 759 1,824 2.564 K$320
174 216 456 1,121 678 1,075 1,819 804 1,915 2,774 KMF2000
18¢1 227 478 1,223 714 1,133 1,967 849 2.006 2,991 KS530
19¢1 238 500 1,329 750 1,191 2.120 894 2,097 3215 KMF3000
209 249 522 1,439 786 1,249 2,278 939 2,188 3,446
KS640
KMF4000
KS524
KS534
Ks328
KS760
KS341
KMF2341
KS342
KMF2342
KPS542
KCAS
KIAS
KST
K$3135
KS4000

www.kccpr.com - 13



B10-KY series
(FEE OIO|RE/22R)

UV
[apNa)
c | c o+
@ AR
M H|
R |
< | <
>
52 >3
O%RNﬁA
m_.ovll_Arr_O =)
Q' m > < | Q
nEO — = o)
u_.BTOOB_mN
x5 v 9l5
o | a = |3
a & o
A
%_1234567

== N
N

2)

3(R2)

www.kccpr.com

AOAAES (F)

CC| KCC Co.,, Ltd.

4lE{) B10-KY10/15/ 18

L

TRE(

1(P)

5(R1)

5/2 Way Single (b2

3(R2)

1(P)

5(R1)
5/2 Way Double (2{Ztf2t)

3(R2)

2(B)

1(P)

5/2 Way Single (Hf| O] AHf2H

4(A)

5/2 Way Double (H{|0] AbHZ)

5/3 Way H/I/) (1342

5(R1)

N

5/3 Way H/I/J (H]0] 282

14



KCC Lﬁ%% ES% g_‘? B10-KY series

S &80 E ¥E CEZE IIO|RE/FER)

T+2E(DIN 24!&) B10-KY15/ 18

rE
fok

EE E

EFTT® 000 000G 500y
%
|

BODY AL E& ZnDC
PORT BLOCK | AL ZE& ZnDC
SPOOL ASS'Y AL, 12

COVER 2

PISTON 2|
PILOT ASS'Y -

SOLENOID ASS'Y - KT100
o KMF0100

i

5(R1) 1(P)  3(R2)
5/2 Way Single (2|Ztl2t)

Niooju | bdhlWwWiIN| =

KY

KS105
= KMF0500

KS210
KMF1000

ey LT

KS320
KMF2000

il KS530
KMF3000

KS640
KMF4000

SR 1P 3R2)

5/3 Way H/I/J (ZI%ul2 KS524

: "1,,77"7 -
ggi @ ©6 06 4 KS534
|
i

KS328

KS760

KS341
KMF2341

5/2 Way Single (H|0|AHHZH

TN

7 ©®6 0 006G ¢

e KS342
T KMF2342

il KPS542

L]
1
i

in

KCAS

KJIAS

5/2 Way Double (H]|0] Atl2H
TN

D ®6 OO ® )

r,,,,,,rf" KST

| -
|

|

1 mt KS3135

KS4000

5/3 Way H/I/J (tf|0] AbH2t)

www.kccpr.com - 15



KCC] Kcc Co., Ltd.

AOAAES (F)

B10-KY series

QR4 /B10-KY10(RI& b2t

of|.=0|= ¥E CEE 0| RE/Fe+)

. IT =
Single(B10-KY10S01) - Z2{11 2ulE
2-M3 TAP DP4
(Hep2 32g)
95 /83
C & &
q
.:.::[D:[ =
(300) (78.2)
458
sy 214 123 :B" Port
E {e]
EeLls ‘ 102548 =32)
] . B d of of
[ & D g | —l =
2-¢2.1 Hole ®
o
o= =
; @
j g i DA
=i ML _ M=)
HZOIA: | || B
2lE4 ZatA 0 q o= 82 |3
KT100 Series 122287 SRR
19 __13.5_ 3-M5 EEE
o5 .R1, R2EE)
ge o) || e
%
IT el
Double (B10-KY10D01) - 2|11 2U4lE
2-M3 TAP DP4
r_,m- 5. /e aEg)
0 d i 1
:.::qj:[ = : E! ]:QJ::'E
(300) (300)
324 "A""B" Port
Y NE 22)
sEHE 4856102 sEHE o
[T S
e 1 =1z e P ge=e==vl o 2
i == " N |4 ¥ o fr P H—— 0} 7| =
2-¢2.1 Hole @
o
)
—~ | |g
W=
J— \ e Az 2E
) e\ ol o| 0| D
FelA i [eles Zay g2g | 3 S
2= Za _ KT100 Series 71222 ) &
KT100 Series 7|&228 2
b 3-Ms5, BEE
( P.RT,R2EE)
o
= oL B

www.kccpr.com



KCC Lﬁ%% ES% g_‘? B10-KY series

Y &2 0|= ¥E CEE IIO|RE/FewR)

Q4= /B10-KY10(RIH b 2tH)

321%| (B10-KY10H/1/J01) - E2{1 24y
2-M3 TAP DP4
107 95 (Eep 22g) Zot
~ 20|
> & HE}
1 g o o o
2 =
:::[[[[ Fo| Al
KT100
KMF0100
(300) (118.9) (300)
324 53.4 "A" "B" Port
121 214 (At &2) KY
FTSHE 4.8|5.6.10.2 STSHE ©
’_ o
I ) ﬁf 4 o P —— EEE KS105
= [& v W%I | ¥ lo lemF—— 0} 7} = KMF0500
2-92.1 Hole ] -
o
KS210
KMF1000
8 ™ =
g A e A
ot nF ol 5[5 KMF2000
*ZO A o 9l m| 57| 2|
HFOIARE: 0 a O 2l M ZErAl o ¥ g 3 ——
=M ZgYA s JlZOREH 3 -
KT100 Series 7| #2282 KT100 Series 7IE 22 8% = © KS530
KMF3000
5 19 3-M5, BEES
a . ey
T P e -
- NG N
=== Lite =
KS524
a AN IT =
Option £4& / B10-KY10(3 & Bf2t) KS534
5 K
ALO|= E2t3l E2HA|(B10-KY 10-F2) $328
35
27 F KS760
KS341
—— @ KMF2341
PN < _—
2len 23y KS342
ies 7|20 28
KT100 Series 7|22 2 KMF2342
KPS542
PB - [ ] - [ ] oC KCAS
KIAS
ORFEED @ A2z @ BYSTY
2712 | Rc(PT) EF) 10 | B1OKYT0 A2 2712 M5 KST
G G(PF) = c4 @4 ABZ|I|E N
% 2| TESE 27|5 Lt FYE DY THES ASLIC
KS3135
KS4000

www.kccpr.com - 17



E Lﬁ%% Egg— !‘g B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

YAz
B10-KYMF (] (10 (01 - (05)
© @ © @
O 2YESEA @ Alg|= @ AL
27|15 Rc(PT) () | 10 | B10-KY10 Al2|2 \ 02 29
G G(PF) Y 03 39
ca EEELE © s S '
[ 01 ] 2 ey \ 20 20

*O|LIBCE 228 FP0|= HLEE Y HE Boi 1} A,

2 0] o140] HI2{510f WS ALY, TAZ0| BAELC
S 0f|= eH 2
=

e P JIAYNS RaE)7) gon2 TR

QY245 /B10-KY10(RIY B2, OHL &

L

=211 24E

(52.4)
(2-p4HE(Z T])
(44)
(2-M5, B2E)
L2 (0.5)
4 L1 4 23.5/ 20
o
B &M i
- 3-Rc(PT)1/8, BE &
= P=10.5 ”, = b b1 D> OHITE =
N P, R1, R2 BIfHEY
S W o ( )
o \ [ ] W <} i
o |3 EE =R A 7t
{f Sl © A0 |l ™ o
~ $ N F— A e}
0 2 3 ~ =
~ | = LS
. TSHE Blanking Plate
§U e s e
8%— o25tA
S = 2224
82 HHWEH
N/ON/C
Single} H, 1 J
Double

305 | 41 515 | 62 | 725 | 83 | 935 | 104 |1145| 125 |1355| 146 |156.5| 167 |177.5 188 [1985| 209 |219.5

L2 385 | 49 [ 595| 70 | 805 | 91 |101.5) 112 1225 133 |143.5] 154 [ 164.5| 175 |1855| 196 |206.5| 217 |227.5

18 www.kccpr.com



KCC Lﬁ%% ES% g_‘? B10-KY series

Y &2 0|= ¥E CEE IIO|RE/FewR)

QA |4E /B10-KY15(R% bi2tH)

Single (B10-KY15501) - Z2{1 24E
22.6 21 2-M3 TAP DP3.5
[EEEEEEY
E ~|
0 <
= BN
@‘ ‘ KT100
KMF0100
(300) _ (97.7)
65.4 KY
36 14.3 "A" "B" Port
4+EHE ( 162 99 OigrE 87)
il S KS105
W ¢ L= IEERE KMFO500
B e TEARN O\ i
/2-93.3 Hole KS210
= S KMF1000
== == 1 KS320
m— = ol ﬂ EE @ KMF2000
B _iax
. E:;EEEU : RS k5530
e 0 SN IR KMF3000
KT100 Series 7|Z2 282 B g -
KS640
27'213 o] 3RPDI/E EEE KMF4000
KS524
KS534
Double (B10-KY15D01) - Z2{11 2U4E
KS328
22.6 12 2-M3 TAP DP3.5
1/ (Ee g KS760
i -
1 & rd =l KS341
T — KMF2341
Besiein=liln e
"A" "B" Port K5342
(300) (130.9) /W%‘Té*}-) (300) KMF2342
66.2 / 323
36 15.1
4EHE ‘ 162 _9.9[5.3 sEHE o KPS542
. L] °
I S L =W i I s I s
== FIRNII A [ ="~
/2-¢3.3 Hole S
o
%1 KIAS
== == _
e — o |2
1 ! Ml KST
= iz : B —=—— 9%,
pEomE 1 i - 2ol o B8
Sl=u 2eey i pacszasy S| | [
KT100 Series 7|22 KT100 Series 7| 2028121 E s} KS3135
27.2 9.7
13.6 3-Rc(PT)1/8, BEE
(P,RT,R2 ZE) KS4000

www.kccpr.com - 19



KCC] Kcc Co., Ltd.

AOAAES (F)

B10-KY series

B £2)0|C WE (SEE MO|ZE/RFR

QHz|4E /B10-KY15(21 4 Hi2HS)

3292 (B10-KY15H/1/J01) - E2{1 24IH
22.6 12_‘ Z(QA;}LA;E»E)'S

“A" "B Port
(300) (1439) [MSE 8x) (300)
(32.3) 792 ] 323
36 28.1
ssye ( 162 9963 +SHE o
o
51 [ -
I - L~ Wan 1 R A = s A P
=== [ O\ LF[ P -
IADE! i
/2-¢3.3 Hole o
o
49.1
==|== —
" = [ = n'ﬁ
| e
—— [ 5 == 1328
HZON: T L oA ol 2le
AEH T pecdzees S |2
KT100 Series 7|Z22 82! _ KT100 Series 7122282 |&

(2-p62E2| T|E)

3-Rc(PT)1/8, BEE

r—" (P,R1,R2 ZLE)
y AP | o b e
ne S S

20 www.kccpr.com

)



KCC Lﬁ%% ES% g_‘? B10-KY series

Y &2 0|= ¥E CEE IIO|RE/FewR)

QA |4E /B10-KY15(R% bi2tH)

Single (B10-KY15S01) - DIN 24g
226 21
0 ©
g i LI X
o [|
2-M3 TAP DP3.5 KT100
g REREEEe Qiﬁlg)' KMF0100
MAX 10 - (115) KY
723
MIzas 36 . 143 | "A""B"Port
. SEHE 162 99| 5317 MR HZE) KS105
N oaseaoes 1\ oY E KMFO0500
CONNECTOR\ 5\ A o 1
2Pole, 1ground ¥ @ &% J@j\\ /(9 7$£I 2 9
Mi12x1.5 / LS @) KS210
Cable: 04~06 h-633 Hole o) KMF1000
E, ] KS320
=t ot ~ KMF2000
= 1 [ = m @m_ -
‘ l |Ha=a KS530
LEHOD VALYE EESOL o KMF3000
: D i KS640
27.2 9.7, KMF4000
3-R(PT)1/8, BEE
zE)
=) N 4 0 KS524
El M ZAUAC S
KS534
Double (B10-KY15D01) - DIN 24lE
( ) & KS328
226 62
KS760
] sl i
gv b 4 AN d KS341
— [ = KMF2341
| o SR | S ) —_—
2-M3 TAP DP3.5
% [EEETEEE) E Kl\/lggj;
MAX 10 o (165.5) o MAX 10
» 80 2238
Mﬁ\ ‘ 36 22 "A" "B Port KPS542
) sEHE ‘ 162 99| 53 (At z)
EN175301-803:2006
(DN43650C) |\ |
womssars - B o) @ Bl el = e
M12x15 (W Ne] S | =7 b £
Cable: @4~06 243.3 Hole
KJAS
EE 3% E KST
@ N KS3135
KS4000

www.kccpr.com - 21



E L(,g,% Egz <L;C>]| B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QIER|4= / B10-KY15(23 HiZH)

3912 (B10-KY15H/1/J01) - DIN 2U4IE

226 75
1 N [
I # i
&
I N [
[
2-M3TAP DP3 5
g [EEEFES) E
MAX 10 (178.5) MAX 10
03
M12x1.5 36 53 "A""B' Port
SEHE 16.2 _ 9.9 MR ZZE) SEHE
EN175301-803:2006
(DIN436500) %
CONNECTOR Q .
2Pole, 1ground m (\2} ﬁm ﬁ E
M12x1.5 ;: / A 4| ) \F &
Cable: @4~06 h63.3 Hole

@0.5)]

2-Rc(PT)1/8] BZE)

@

Option ££Z /B10-KY15(2| & Hf23)

AfO|E Hat3

2tA[(B10-KY15-F2)

4

45 (20)

(40.2)

e
x O A
2= ZEAl
KT100 Series 7|22282

(36.7)

©
®

O YA @ Al2[= @ &YL5+3
D5 | RPT @F) 5 1/8

B10-KY15 Al2]| 7|
= 6 06 HE{Z|I|E

‘15

G G(PF)

e LYY= 27| Yuic

22 www.kccpr.com



KCC ;ﬁg% ES% g_‘? B10-KY series

Y &2 0|= ¥E CEE IIO|RE/FewR)

gl
1=
N
fol

sro-ore () (75) (&) - (&)

o © ©

O HESYH @ Al2|1= @ A= KT100

= Re(PT) (EE) 15 B10-KY15 Al2[=

G G(PF) 03 39

C6 e ‘© Ht 2t ‘%“ﬂ' 1 1 kY
01

€ 9 mE B2} RagUch
O @180 H[25{0f B S2LIAL 7|AZ0] SASILICE
SO W 2L JIANS R4S oo Has

*OUBCE 223 FP0| 2|
w ARl UBEE 728

KS105
s R = KMF0500

ZCEFE
K H[O|AUHRRO| OfLIZEE F2E

YZ|4E /B10-KY15(2Y Bl &Y, oL = Ks210

KMF1000

n %
SN—

KS320
I 24l KMF2000

(67.5) KS530
(2-@6%(';19151| g) KMF3000

L2 (Z'RC(?S) 15/)4, HZE) KS640
10 L1 10 32.5— 265 KMF4000

I I|2(2712): Re(PT)1/4 | K524

I (A,BEZE)
Co6:06E{Z| | &

3-Rc(PT)1/4, BEE KS534

_Zl | =16 ‘ ‘ y‘? 1N (P, R1, R2 HIIHEY)

o —

(33.1)_(13

KS328

2.3
30

A 7tAZ

60

o[R
Y R ! —!

Blanking Plate

KS760

== ==

65.4
d
xns[]
P

97.7
i
R
0

KS341
KMF2341

é_w /'] HL
' N/O N/C
Single H, I J

Double (3%12)

KS342
KMF2342

(300)

KPS542

KCAS

KJIAS

KST

KS3135

KS4000

40 56 72 88 104 | 120 | 136 | 152 | 168 | 184 | 200 | 216 | 232 | 248 | 264 | 280 | 296 | 312 | 328
L2 60 76 92 108 | 124 | 140 | 156 | 172 | 188 | 204 | 220 | 236 | 252 | 268 | 284 | 300 | 316 | 332 | 348

www.kccpr.com - 23



KCC Co., Ltd.

B10-KY series

A O AAE S (F)
el 2 =] [ Ne]
S &9 0|E ¥E (5ZE TIO|RE/2E2R)
47|
B10-KYMF (_ J(15](01) - (05)
O HHEEYA @ Alg|z @ o
27|15 Rc(PT) () | 15 ] B10-KY15 Al2|2 \ 02 29
G G(PF) o in 03 3%
c6 06 UE{R|L[El O© Bfiet L4 ; ;
[ o1 | 2 o2y \ 20 209
xDLBCES 223 Q0| 2 22E U BE 220} RaELC
K A RO| UBES 228 L0 2140] H[25/0] HE SALIAL ILA0| SAELICH
KO AHI 2SO DILIZES 223 ZR0= M PALAL JANS D462 002 LR P HUER2 225 FAAIR
=]5| A L=
QYx|+E /B10-KY15(R HiY, L ZE)
DIN Z4lg]
EN175301-803:2006
(DIN436500) 80.5
CONNECTOR (67.5)
2Pole, 1ground (2-p6E 2| I|&)
- L M12x1.5 (59.5)
» Cable: 04~06 2-R(PT1/4), EZE)
< 10 L1 10 M12x1.5 32405 5
o iate)] ﬂ
WL@ 7|2(2715): Re(PT)1/4
B (A, BHZE)
a Ké CO:06AEIA 1Y 3-RC(PT)1/4, BEE
o 2 p=16_!— j va? WT}PH%OE')
T s ¥
e ¢ ¢ ; f
m ‘ S S .
~Nl e U N I R 2 Az
@ ~
™ ~ : MRS @ 2
~ i i -
~ P \ = N
= Ay R D
el RN RN NN .
Blanking Plate
oo EEE Sy ek
HEEE 1
slelelo]s
i i i )
2 N/O N/C
% Single |} H,1J
= Double (38121
12 3 E5(n)
DIRDRDAKDAKE
PePRL. 2
‘ =
@
©
S
A2 BT} OIS 4 AsUCH
L) | 2 3 4 5 6 7 8 9 [ 10 [ 1m[12]13] 141516 ] 17 ] 18] 19 20
L1 40 | 56 | 72 | 88 | 104 | 120 136 | 152 | 168 | 184 | 200 | 216 & 232 | 248 | 264 | 280 | 296 | 312 | 328
L2 60 | 76 | 92 | 108 | 124 | 140 | 156 | 172 = 188 204 | 220 | 236 | 252 | 268 | 284 | 300 316 | 332 | 348
24 www.kccpr.com



KCC Lﬁ%% ES% g_‘? B10-KY series

Y &2 0|= ¥E CEE IIO|RE/FewR)

QA |4E /B10-KY18(RIH b 2tH)

Single (B10-KY18S01) - 2211 24l
2-M4xP0.7 DP6.5
(=212 32g)
20
T T N
o 4 ‘
- 0 KT100
KMF0100
(300) (112.3)
79.9 KY
42 19 "A" "B" Port
LEHE 19 115 (AR 2Z)
o
oy =] KS105
LT RO 4 KMFO500
==L T e N 1A
KS210
\2-94.3 Hole o
0 3 KMF1000
] —— | j 1
= = — KS320
o |@0
EEL ) KMF2000
=} T P q:':r' % -
ol =% KS530
| KFOIAFY: ol ol Tl 18 EH
@ EEREETN SR KMF3000
] KT100 Series 7|22 28% I g |-
2-Rc(PT)1/8, BEE KS640
RC(PT)1/4, BEE 36 oo R R22S) KMF4000
(P EE) e
RT o~
——=T [ A8 g |
:.:.:M_@@ 5 WZ[ KS524
KS534
Double (B10-KY18D01) - £2{1 24l KS328
2-M4xP0.7 DP6.5
(S22 324g)
20 2 KS760
1 N
PR AHIE
KS341
- i KMF2341
. = . KS342
KMF2342
"A" "B" Port
(300) (144.5) AR 37) (300)
(32.35) 79.8 4.1 KPS542
42 18.9
~sHE ( 19 115 ~sHe o
TNT
KCAS
= ° ) oD I I e === P
‘:‘H%bﬂ_ﬁ_{l@ LA\’ LR A=
vy
() 294.3 Hole ) KJAS
=l = — =
. !_m S KST
P s
— i | == RESE
PN =18 ] D= |
2|E4 28 ﬁ-:#e A g E 2
KT100 Series 7|22 2824 :qgﬁl ZEparAl SR OIS KS3135
KT100 Series 71222824 &
2-Rc(PT)1/8, BEE
zE
Re(PT)1/4, ERE 36 2ém' f2Es) K54000
(PZE)
Y
——— I8 d- 1o [
—— L {BYA ==

www.kccpr.com - 25



E L(,g,% Egz <L;C>]| B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QHZ|4E /B10-KY18(21 A HY2HS)

3912| (B10-KY18H/I/J01) - 22|11 =4l

2-M4xP0.7 DP6.5

(2282 ¥2t8)
20 47
]
T T
& | 4 “1

- (300) (157.5) (300) _
(32.35) 928 41
42 31.9
FEHE 19 11.5| "A""B" Port SSHE

(MSE 2Z)

|
| [ @\ b/ P eg=e=

-, é‘ LAB_M%%H:':
2-¢4.3 Hole

57

4@ = /—"{q Lﬂ EE@

:.::[Di H _ .

X FO|AFS: el =
2IE 3By e g e
KT100 Series 7|22282 2|SM ZBHAl Nl
KT100 Series 7|Zo2824 | |&

2-Re(PT)1/8, BEE
R1 R2EE
( 1y )

39)

)1/4

@7
(2-@8LE | TE)

RC(PT)1/4, BEE 36
(PEE)

—_—

——L [ {8YF O *&% !

26 www.kccpr.com



KECS

KCC Co., Ltd.

A O A ALE S (

=
e

)

B10-KY series

www.kccpr.com

I OF & =] oo
Y &0/ ¥E (5EE I0|RE/fFaew®)
=15 A =
QYa|4E /B10-KY18(R|Y bi2d)
Single (B10-KY185S01) - DIN Z4l&]
2-M4xP0.7 DP6.5
[EEEETEEY) 20 20
i 5 i
]
— i g
KT100
— KMF0100
7
MAX 10, (130.1) KY
M12x1.5 87.4
42 19 |'A""B" Port
(AL 2Z)
EN175301-803:2006 2t 2 KS105
DIN43650C
CONRECTOR el o KMFO500
2Pole, Tground Y=} — P ] I
wars Bl OS2tk <5210
Cable: 4~06 — T
B \294.3 Hole o KMF1000
Ve g °
KS320
L M\ KMF2000
~ N __|H
@ "o
%% Bt KS530
s 3 KMF3000
P <
KS640
KMF4000
= )
\*% KS524
2-Rc(PT)1/8, BEE
R1,R2 ZE)
KS534
Double (B10-KY18D01) - DIN 24lE
( ) E KS328
2-M4xP0.7 DP6.5 20 447
(22t F2g)
i &} ~ i KS760
I {
fl L I KS341
=t - KMF2341
=i =
E[:* ﬁ:El KS342
= g KMF2342
MAX 10_ (180.3) MAX 10
M12x1.5 94.8 42.7
: 42 26.4 73 KPS542
sEHE ( 19 _ 115 "A""B"Port "
EN175301-803:2006 == (AR 2Z) S
(DIN436500) (T —
omeoNST Do | oLl ene BT el 1od4s cas
endiitse AT IS | OIS =
able: -~
— 2-¢4.3 Hole . — o —
=y H e KIAS
=0 s e B
E =y ]1&9 @ @
j m»’f_%? KST
[ m—— \ b 2 ;3 o
© |
| ¢ [° KS3135
| &
Rc(PT)1/4, BES 36 36.7
(N N - | KS4000
@ ._.‘.y
4
2-Rc(PT)1/8, BEE
(R1, R2 ZE)



E tf,g,% Egg— <L;C>]| B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QIER|4= / B10-KY18(2IY HIZH)

392 (B10-KY18H/I/J01) - DIN 2U4IE

2-M4xP0.7 DP6.5 20 57.7
EaEEg) \ | I
[ | I
2
% | e y
1 [
1 fi
— AL — T

5
1l
=
|
E
10
|

7 T~/
MAX 10 (193.3) MAX 10
M12x1.5 42.7 107.8 427
22 394 73
_/F%wg ‘|9 11 5 "A" "B" Port
EN175301-803:2006 ASE 22 3
(DIN436500) 1\ | ST |
CONNECTOR \ = 5 - ==
2Pole, Tground —1 r\@ (\u } Fi\ /ﬁj\ @% E@} fias = ﬁ ® g
mizs Bl Y 2 1\, \Qj@i =7 hd L=
Cable: @4~06  — —
EI: 2-64.3 Hole — o
— \2¢4.3 Hole L =3
El: o = =
L n % |2
[ | N
- . H G| g
PN
(o) ! ] e
nl ol T2
SN
i &

RC(PT)1/4, BEE
(PZE)

E Voo wire
E &

)
4
2-Rc(PT)1/8, BES

(R1,R2 ZE)

Option £ /B10-KY18(2 A Hij2+d)

AROI= E2t3ll £2tA(B10-KY18-F2)

=}
HFOIArEH
2|EM Al
KT100 Series 7| 22282

@ YA @ Al2|= @ &YS5+3
2015 Rc(PT) (HE) 18 B10-KY18 Al2] 2I1= 1/4
G G(PF) = (@] @8 HE{Z|I|E
% QUE2| TIEHE 2|5 Lt Y 2Yn tES ASLIC

28 www.kccpr.com



KCC Co., Ltd.

AOAAES (F)

B10-KY series

&2 e0|E HE BGEE IO RE/RE W)

A |S
B10-KYMF (] (18] (01] - (05]
O BELHA @ A2z i
= RCPT &S EE B10-KY18 A[2|Z 02 24
G G(PF) . ” H
c8 08 HE{2|T|E © Hii& g4 : :
o1 | 2|3 sy 20 20
#OUBEE 229 Q0| 3L EE U BE B2\ 10} 4T C
A EIHO| OILIBES 728 F201C $40] Bl2i3/0] S Satixf, 71A310] B
st0|AtIEo| GILIBES 223 320l We SALLL TIANS Hae)7) oo et 39 W 2o ZUAL.
QI3 x|4E /B10-KY18(2I % Hi &S, OjL|ZE)
22|10 24H
(74.1)
(2-@82lE{2| IE))
(65.6)
5 (2-Rc(PT)1/4, BZE)
4.5 L1 4.5 92 26
il
_ I 12(@712): R(PT) 1/4
s (BEE)
~ ‘ C8:982IE 2| TE
- o : C8:982E{2| T|E 16.5] 3-Rc(PT)1/4, BEE
e s | f g 7 (BHfEEY)
/- s 7
SHIEEEREEE Va ] l
3@ i ] @! o g
SENEDN | @ f— I SR
o Q) @ ARE . '
i - g [+ 3~
Q~ & (i) i) (iln) & 0
N >/ =\ v wn &
= = ¥ 2
. L2EHE S| | | |
5}
N
SEE
SHEE RN

Double] (3%
12 3 e A<=(n)
==
i
fos) —
PR
—| o
<
W)
H==(n) 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 46 | 65 | 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388
L2 55 | 74 | 93 | 112 | 131 | 150 | 169 | 188 | 207 | 226 | 245 | 264 | 283 | 302 | 321 | 340 | 359 | 378 | 397

www.kccpr.com

KY

KS105
KMF0500

KS210
KMF1000

KS320
KMF2000

KS530
KMF3000

KS640
KMF4000

KS524

KS534

KS328

KS760

KS341
KMF2341

KS342
KMF2342

KPS542

KCAS

KJIAS

KST

KS3135

KS4000




KCC Co., Ltd.

A O ALAL Y

o

S &00|E BE BGEE OI0|RE/

IZIJ_O)
T -gTr

HAD|s
B10-KYMF (] (18] (01] - (05])
@ @ ® @
O 2E LA @ Al2|= @ ol
27|15 Rc(PT) (BF) 18 B10-KY18 Al2|= 02 20
© G(PF) e 03 39
8 @8 SUEf2|I]E] © Hj2 A .
o1 | 27 s | 0 T

>I<<E|Hl—|1':§ =

s ALz Eo| oL

=—= T

s Hi| O] Al o| oL

Q¥2|4E /B10-KY18(RIY b2, OHLE

I

E
Ofi= 2140 2510} 5 BALAL F1A0| SAELCY,
= 2 DALY, JIANS B2 o2 Test

=X T

In =

DIN 24/E]

EN175301-803:2006

(DIN43650C) 83.6
CONNECTOR (74.1)
2Pole, 1ground (2-08YE{ | TEl)
B M12x1.5 (65.6)
; Cable: D4~P6 (2'RC(PT)1/4, B—‘i‘%)
S 45 M5 39 (06)5
g p
N 1
712 (87|1=): Rc(PT)1/4l
R (EZE)
g C8:082lE{2| TEl
— 0,
<t b
N &/
] i i @&/ &
SlENED a -
< S/ 51 \&3 RANE
5 oD Ve L o Bt
- \15 \&J i S —s
o 2 ® L = o
m i 2
Blanking Plate
o
=
<
= H, 1)
3%912])
clelelelel -
L el
an) | 2 3 4 5 6 7 8 9 011 [ 127131471516 ] 17187 19 20
L1 46 | 65 | 84 | 103 | 122 | 141 | 160 | 179 | 198 | 217 | 236 | 255 | 274 | 293 | 312 | 331 | 350 | 369 | 388
L2 55 | 74 | 93 | 112 | 131 | 150 | 169 | 188 | 207 | 226 | 245 | 264 | 283 | 302 | 321 | 340 | 359 | 378 | 397
30 www.kccpr.com



KCC ;ﬁ%% ES% g_‘f' B10-KY series

S &80 E ¥E CEZE IIO|RE/FER)

Q|3 x|4E / B10-KY10(H]|0| A HYZHH)

Single (B10-KY10502) - Z2{1 Z4IE

Option &5 1346 _14.5 2-Rc(PT)1/8, BEE

(SUB BASE) \

13.5

KY

(300) 78.2 KS105
KMFO0500

KS210
KMF1000

KS320
KMF2000

KS530
KMF3000

HEOIAY:
2leH 2R i q P
KT100 Series 7|22 2824

KS640
KMF4000

56.3

(43.9)

KS524

[7.5 98| 189 |129

Rc(PT)1/8, BEE

w
Bl
ja8
K]

KS534

Double (B10-KY10D02) - E2{1 24l KS328

Option 4& 1346 145 2-Rc(PT)1/8, BEE KS760

(SUB BASE)
ST e

KMF2341

KS342
KMF2342

|

KPS542

345 414 345
3.2 35 32
2 KCAS

KJIAS

’_ﬁ KST

KS3135

129

|

H O
2SN 2Bt
KT100 Series 7|22282%

18.9
56.3

i
S—

P =
o2 KS4000

N
~

9.7 11 | 11 |97 N\3Rc(P1)1/8, EEE

i

(43.9)

fan
WV
Van
P

www.kccpr.com - 31



E 5,%:,% Egz <L:z[-c>]| B10-KY series

s £20|E HE 5RLE 0| RE/REw)

Q|3 x|4E / B10-KY 10(H||O|A HYZHH)

392 E2Z(B10-KY10H/1/J02) - 2211 24E

Option 242 1346__14.5_  2-Rc(P)1/8, ERE
(sUB BASE)\[

;%:Jm
i

— ki

(300) 138.3

62.4

32

o
o~
- A
[
K ZOIARE: o
KT100 Series 7|2228 7 i [ st Zee . @
FoRe KT100 Series 7122282 |9

Lozl 11| 11 [ 07]N3-Re(PD1/8, EEE

Option 245 / B10-KY 10(H|0| A HYZH)

A 7tAa B10-KY10& (H|O| 2B AE H|O[A

B10-kY( J(10)- s8 - )
®

®
3

s @ARZ @ HyaT
Rc(PT) (&F) 10 |BIOKYIOA[[ o1 [ /8 |
Model : B10-KY1002-BG G(PF) =
W5 JIAASE A s,

32 www.kccpr.com



KCC Co., Ltd.

AOAAES (F)

KECS

B10-KY

series

FA7|= /B10-KYT1O(H|O|A B2,

o

OiLIEE)

ZY S2l|-0|= e (SEE Nj0|RE/2FR)

10 02| - 1|05
KYMF ad
&o|=
® @ ® @ o=
35
20| Abat
@ HHEEHA @ Alg|z @ ¢ KT100
2|5 Rc(PT) (EZ) [0 ] B10-KY10 A|2|= \ 02 2% KMFOT00
G G(PF) ", 03 3%
ca YEEREH © e P4 : : KY
[ 02 H{O| A B2+ \ 20 209
XO|UZES 228 F20|E 3/HEE U ZE Zaj 17} Bagct, KS105
A REO| DLIBC S 228 H20|S Gi40] Bl2{5101 e LR, 7EAZ0| ST KMFO500
|0 AUfRHEO| LI BES 228 2201 WE B2} JIAS BALR| fo02 WS 29 WE 2 225 2AAIR
S A
Q2[4 /B10-KYT10(H|O[A B2, OjLIZE) Ks210
KMF1000
KS320
Zg|0 24lg KMF2000
(52.4) KS530
(2-p42IE{2| T &) KMF3000
(a4) S
(2-M5, EZE) KS640
L2 ©0.5) KMF4000
4 L1 4 23.5/ 20
KS524
2 1
KS534
|| 3-Rc(PT)1/8, E-i—
S = P,RT, R2 EHHEY
~ " R ( HsY)
« ‘ v i KS328
NI 1 _ A 7tAZ
o= n:[W[L”Q L
ol &9 1 — fud] [V 9 ~
;‘ © o~ et o — o E -
S ~ N KS341
>sHE Blanking Plate = KMF2341
S *FO AL KS342
/g\. £ 2| M HBHEEAl i KMF2342
=1 KT100 Series 7|2228A -
FE L H
Qe KPS542
Single} H,1J =AU S 0|E
Double
KCAS
KIAS
KST
KS3135
K
Ax(n) | 2 3 4 5 6 7 8 9 [ 1011 [ 121314 [15] 161718 19 ] 20 54000
L1 305| 41 |515| 62 | 725 83 | 935 104 |114.5| 125 |1355 146 |156.5| 167 |177.5| 188 1985 209 |219.5
L2 |385| 49 | 595 70 | 805 | 91 |101.5| 112 |122.5 133 1435 154 |164.5| 175 | 1855 196 206.5 217 |227.5

www.kccpr.com




E tf,g,% Egg— <L;C>]| B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QHz|4£E / B10-KY15(H|0|A HiZHH)

Single (B10-KY15502) - Z2{1 Z4E

Option £4& 19 18 19 2-Re(PT)1/4, BEE

SUB BASE) \
Leg?

(300) 97.7
37.4 56 43
4 48 4
<
——i o
= a
o)
1=}
‘D.N Sy
G 4
s e\
DOy
S R
10 18 18 | 10 3-Rc(PD)1/4, BEE
Double (B10-KY15D02) - 22111 24lE
Option 48 19 18 19 2-Rc(P)1/4, EEE
(SUB BASE) \[
a) |
\8Y
— —
__(300) 130.9 (300)

<
0
—
P

2EM ZEEY
KT100 Series 7|22 282

54

=
= | [ [=—
KT100 Series 7|22 2821
& len) g
QO

10 18 13|10
3-Rc(PT)1/4, BEE

(41.6)

o]

34 www.kccpr.com



KCC ;ﬁg% ES% g_‘? B10-KY series

S &80 E ¥E CEZE IIO|RE/FER)

Q|3 x|4E / B10-KY 15(H{|0| A HYZHH)

39|2] (B10-KY15H/1/J02) - 2211 24

ek
[=}
Option 24& 19 18 19 2RcPT)1/4, BEE 20|
(SUB BASE) !

KY
(300) 143.9 (300)

204 KS105
a ;¢ﬁ KMF0500

KS210
KMF1000

o

Y

s

%hﬂ‘jns 4
35

]

J KS320
KMF2000
\ KS530

iy == i = o — KMF3000
% FOARR PELS

@ | el zEey [2IEd Zeen o
KT100 Series 7|22 282 | JKT100 Series 7| 20282 © KS640

KMF4000

8.4

Y 23
54

(41.6)

N
;

D
o
@s)

p==4
D

J

iE KS524
0] 18 13 _|10]

3-Rc(PT)1/4, BES

KS534

Option £4& / B10-KY 15(H|0[A B 2t3)

KS328

A 7tA2 B10-KY 158 (H|O| AHfEH) ME H|O|A

Ks341
© KMF2341
8

Ks342
174 KMF2342

roky( J)(5)-s8 -( )
© ©

@ LAl @ Al2|2 ©@ads+
o 15 |BIOKYISAI[ 02 |

G G(PP) el=
. ANSE P57 YL, KPS542

Model : B10-KY1502-BG

KCAS
KJIAS
KST
KS3135

KS4000

www.kccpr.com - 35



KECS

KCC Co., Ltd.

A O ALAL Y

S (

=)

B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QHz|4£E / B10-KY15(H|0|A HiZHH)

Single (B10-KY15502) - DIN Z4l€&]

MA;

Option£4& 19 18 19

Ham

2-Rc(PT)1/4, BEE

(SUB BASE) \

Yo aE

L],

115

M12x1.5

EN175301-803:2006
(DIN43650C)

CONNECTOR
2Pole, 1ground
M12x1.5
Cable: 4~06

%
al

5/\

3-Rc(PT)1/4, BEE

Double (B10-KY15D02) - DIN Z4IE{

M12x1.5

EN175301-803:2006
(DIN43650C)

CONNECTOR
2Pole, 1ground

M12x1.5

Cable: 4~06

Option24& 19 18 19

2-Rc(PT)1/4, BEE

(SUB BASE) \

EI

d
al

AX_10

76.1

MAX 10

Lo oo
@ N
4 N\
0

S
1 18 18| 03

o
¥

(W
an)

3-Rc(PT)1/4, BEE

36

www.kccpr.com



KCC Lﬁg% ES% (LE(? B10-KY series

=
S &80 E ¥E CEZE IIO|RE/FER)

QI3 x|4E /B10-KY15(H|O|A HY2+S)

3912| (B10-KY15H/1/)02) - DIN 24Ig
Option 24& 19 18 19 _2-Rc(P)1/4, BEES

(sUB BASE) \[ S
I £70|E

By

LI

Qo= :
P L [ % El Zo| Abt

I I Q S
% il i KT100
f . KMFO0100
gi TE w

AX 10 178.5 MAX 10

M12x1.5 54.7 56 67.7
0 12 |4 48 4 25 K5105

= KMFO500

76.1

EN175301-803:2006
(DIN43650C)
CONNECTOR\ =M

2Pole, 1ground
M12x1.5
Cable: @4~06

B KS210

1] 63§ ~/ b KMF1000
TJ A= —

KS320

KMF2000

=
KS530

KMF3000

35

B3]

[T

Uy

KS640
KMF4000

EEy o

0] 18 | 18 | 0 3Rc(PD1/4, BEE

KS534

Option £4& / B10-KY 15(H|0[A B 2t3)

KS328

A 7tA2 B10-KY 158 (H|O| AHfEH) ME H|O|A

KS341
KMF2341

sroky( )(i5)- 8 -( )
© @

O}E@

HAFA @ Al2|= ®
15 | BIOKYTISAI[ 02
G(PF) ez
A

A

£|2] ehEUCH KPS542

r

i)
12
RIS
-4

KS342
1/4 | KMF2342

Model : B10-KY1502-BG

Blis

KCAS
KJIAS
KST
KS3135

KS4000

www.kccpr.com - 37



KCC Co., Ltd.

KEEC| !

OLALAIY s (F)

B10-KY series

ot

e
el
fok

sY £20|E HE (5ELE IO[RE/

sro-ove () (15) (@) - (&)

ORFEEN @ Al212 @ A=
2715 Rc(PT) (BF) [ 15 | B10-KY15 A[2[= \ 02 2¢d
G G(PF) o bia 03 3%
c6 06 UE{x| T[El © B2t FA ~ :
[ 02 | B0 A B2+ \ 20 209
*O|LBCE 228 Q0| 2 RBE U TE B2V} RagLc,
e 2 RTO| | LIBES 223+ YL0)= oio] H2510] Y 2NN, FIAZO| SASILIC,
s H[O|AHIRIEO| DILIBES 728 20l e Rat A, JIANS R4E7| 002 Lt 39 HE2 225 FUAIR
=1 5| A _ nl%er IT
Q2|42 /B10-KY15(H|0| A B2, DL ZE)
221 24H
L2
65
2 05
315 [ 33
5] I
= 152 3-Rc(PD1/4, BEE
N 14 (P, R1, R2 I HEY)
V'Q “[
™~ o _ AN
N - ] W2
~N| O
R O 75
N =4 7tAs
o) = =R
2 fg @ j 0
| ®
|~ } Single | Blanking Plate ™
aly - = i
~ = nH
— 4
o I b
i 1e8s
Double {H, 1) oS
(3912) wule
=dZ 220|E
LN
,\' >
\2xn Re(PT)1/4 KY15-
(A, B HEE) B10-KY15-BP
Ae(n) | 2 3 4 5 6 7 8 9 [10] 11 121314 1516 17 18] 19 ] 20
L1 42 | 58 | 74 | 90 | 106 | 122 | 138 | 154 | 170 | 186 202 | 218 | 234 250 | 266 = 282 | 298 | 314 | 330
[2 | 525]685]845 1005 1165 132.5]148.5]164.5 180.5 1965 212.5]228.5|244.5/260.5 276.5 2925 308.5|324.5]340.5
38 www.kccpr.com

010
T -gTr




A O A ALE S (

KCC Co., Ltd.

=)

B10-KY series

ogt

s1okvmr ()(5) () - (&)

&2 e0|E HE BGEE IO RE/RE W)

@ BYEHA @ K212 @ as
275 Rc(PT) (BE) [ 15 ] B10-KY15 Al2|= \ 02 28
G G(PF) . 03 3
C6 06 Ef2| T/ © s T4 : 1
[ 02 | H{O| A B2+ \ 20 209
*OYLBES 228 220 2|REE U BE Za|07t AT}
* 2 ZHIRBI0| DfLIZES 22 ZR0= $I40] H[2{[510] 2 S2H AL 2HAMO| SAEILICE
xH|O|AHIRISO| DfLIZES 228 ZQ0|= WE BRI JIAMNS R4E|7| 0I002 LRt AR UE2 225 2R
2 A _ Tl e
QY|4+ /B10-KY15(H|0|A B2, DL ZE)
DIN 24/E
EN175301-803:2006
(DIN43650C)
CONNECTOR
2 2Pole, 1ground \
o M12x1.5
—| 55 L1 5 Cable: 4~06
>
< =
= 18.5 P=16 M12x1.5
PPy
ATHE
4 FEUE 3-Rc(PT)1/4, EZE
e N (P, R1, R2 BT S Q)
[Ta}
= J]
- o i = C)(h =
¥ ° e WA=
L - g |° 23 7HA 3
s O
. R IAE
. Blanking Plate
[Te)
=
i)
i I
i T
: HE D
E Double}  {H, 1)
% ER)
=
12 3 e &4(n)
OO
@
o
=
i
mn
9 <
15.5 2xn Re(PT)1/4
P=16 (A, B ERE)
A(n) 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 42 | 58 | 74 | 90 | 106 | 122 | 138 | 154 | 170 | 186 | 202 | 218 | 234 | 250 | 266 | 282 | 298 | 314 | 330
L2 52.5 | 68.5  84.5 /1005 116.5/132.5]148.5|164.5|180.5 196.5|212.5 228.5|244.5|260.5|276.5|292.5 308.5|324.5|340.5

www.kccpr.com

KY

KS105
KMF0500

KS210

KMF1000

KS320

KMF2000

KS530

KMF3000

KS640

KMF4000

KS524

KS534

KS328

KS760

KS341
KMF2341

KS342

KMF2342

KPS542

KCAS

KJIAS

KST

KS3135

KS4000




E tf,g,% Egz <L;C>]| B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QHz|4£E /B10-KY18(H|0|A HiZHH)

Single (B10-KY18502) - Z2{1 Z4|E

26 21 2-Rc(PT)3/8, BES
/

Option 24

(SUB BASE)

(300 (35.7) 69 75
(3.4 61 1

)
o

N
~
—
#FOARE: X
2EH 2EYA N
KT100 Series 7|#2282 09|z
o (e}

16 205 | 205 3-Rc(PT)3/8, E= 2
pad =
Double (B10-KY18D02) - £2{1 24l
26 21 2-Rc(PT)3/8, BERE
Option £4& | : f
(SUB BASE) \ @_@ =N
o
=
(300 144.5
(SHEY) (35.7) 69 (39.8)
(3.4 61 7.4,
LsHE
== o i R €
— o & of 5
<
N
= [
*ROIMEE ol
Qo4 ZEuy Sentagy  ® ®
Zo28 =l
R KT100 Series 7|22 283 KTWOOSeHesﬂ%Eﬁ‘E’ﬁgL s &
@ o
T g E—— =E—
{f N " <
| o _] |

- | 16 | 205 205 N 3Rc(PT)3/8, BEE

40 www.kccpr.com



KCC Lﬁ%% ES% (LE(? B10-KY series

=
Y &2 0|= ¥E CEE IIO|RE/FewR)

Q32|45 / B10-KY 18(H{|0| A HYZHH)

39|2] (B10-KY18H/1/J02) - 2211 24|E

Ham

Option 245
(SUB BASE)

KY
(300) 157.5 (300)
(35.7) 69 (52.7)

(3.4) 61 (20.4) KS105
KMFO0500

+EHE ﬁ% +SHE

[REE] SOLENOD VALVE

KS210
KMF1000

@ KS320
‘L L 5|R1 1P 3R2 KMF2000

HlJ 46
i

I

KS530
KMF3000

=

*FOIMZ:
2 e ZEYA
KT100 Series 7| #2282

KS640
KMF4000

61

(48.6)

OV

@u 2N

16 20.5 20.5 f\3*RC(PT)3/8, BES

-
©

KS524

KS534

Option 24 / B10-KY 18(H|0| A Hi&HE)

KS328

= 7t B10-KY18& (H|O|AHf2H) AME B|O[~

KS341
® KMF2341
E

KS342

ro-ky( ) (18) - s8 -( ) T
® @

SIPSCN| @ Al2|R ®

1g | BIOKY18A 1/4 KMF2342
G(PF) 2=

3/8
NS FE&A| U KPS542

Hay

OOr_[-'__J

2
3

Model : B10-KY1802-BG

I

KCAS
KJIAS
KST
KS3135

KS4000

www.kccpr.com - 41



E tf,g,% Egz <L;C>]| B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

QHz|4£E /B10-KY18(H|0|A HiZHH)

Single (B10-KY18502) - DIN &4&
26 21 2-Rc(PT)3/8, B &
Option £4 % /
(SUB BASE)
I
I
= 0
MAX 10 130.1
(53.6) 69 78
M3 (10.9) 61 a4l |
EN175301-803:2006 m
(DIN43650C)
CONNECTOR
2Pole, 1ground t—o1 X2
M12x1.5
Cable: @4~06
[ |
U m—
R
@ IS
© —
: 18
© i
) &
16 205 | 205 3-Rc(PT)3/8, BEE
Double (B10-KY18D02) - DIN 2H4I&
26 21 2-Rc(PT)3/8, BEE
Option 4% /
(SUB BASE) \ bt PN
al
i 1
I {
I P | e .
MAX 10_ 180.3 MAX 10
(53.6) 69 75 5
M12x1.5 (109 o P e
EN175301-803:2006 2EME
(DIN43650C)
CONNECTOR f
2Pole, 1ground L [ - FR L
M12x1.5 oY
Cable: 34~06
o ol
& &
© 9
BN =t
o =—— =
16 | 205 20.5 “N3-Rc(P3/8, EZE

42 www.kccpr.com



KCC ;ﬁ%% ES% g_‘f' B10-KY series

Y &2 0|= ¥E CEE IIO|RE/FewR)

Q32|45 / B10-KY 18(H{|0| A HYZHH)

3912 BE2E(B10-KY18H/1/J02) - DIN 2H4E

26 21 2-Rc(PT)3/8, HFE
[

Haxm

Option &%
(SUB BASE)

MAX 10, 1933 _MAX 10
(53.6) 69 27.9
(10.9) 61

KY

M12x1.5

IN

KS105
KMF0500

A
EN175301-803:2006 -
(DIN43650C)

CONNECTOR
2Pole, 1ground [ [ N
M12x1.5 h

Cable: p4~06

KS210
KMF1000

KS320
KMF2000

) dmmb

([TI1T)

KS530
KMF3000

KS640
KMF4000

826
(0.6)
28

25

KS524

19.5

900

16 205 205 3-Rc(PT)3/8, BEE

1

KS534

Option 24 / B10-KY 18(H|0| A Hi&HE)

KS328

= 7t B10-KY18& (H|O|AHf2H) AME B|O[~

8 KS341
KMF2341

O BYEHY @ Al2|= ® Y457 K342
= 18 B10-KY18 Al 02 1/4 KMF2342
G G(PF) 2= 03 3/8

ASe £457) YaLc KPS542

ro-ky( ) (18) - s8 -( ) T
® @

Model : B10-KY1802-BG

I

KCAS
KJIAS
KST
KS3135

KS4000

www.kccpr.com - 43



E tf,g% Egz !‘;_C)j B10-KY series

Y &0 ¥E (5EE IO|RE/FeR)

YAz
B1o-kymF () (18] (02) - (o)
© @ © @
O 2YESEA @ Alg|= @ AL
27|15 Rc(PT) () | 18 | B10-KY18 Al2|2 \ 02 29
G G(PF) 03 3¢9
c8 08 2lef7| 1jgl ® i S : '
[ 02 ] Hi[O] & BH2HS \ 20 20

*O|LIBCE 228 FP0|= HLEE Y HE Boi 1} A,
x| OfLIZES 228 F0IE ¢140] HI2{5{0] e ALY, TpAZM0| Bag )
xHI0|AtZEe| OfLIBES 228 FP0I WE AL, JIAME Baelz| ooz Tes

22|42 /B10-KY18(H|O|A Hi2ted, OHLIZE)

=211 24E

P=19 17

2xn Rc(PT)1/4 ll l7_

(BEE)
JoXoXoReRe Tk
MCACACACRCAONR

9.5

9.5

(64.7)

g
°gq_
g

2 770'26
6 L1 6 35.4 412 SH| 7tAZ

m T
™
21 P=19 . 19 | 3-Rc(PT)1/4, BES
&l T 7 1/ wewesm
T
< Model : B10-KY1802-BG

2 o

o E
m| ™ =}
a

s

N
ot o
BB

49 68 87 106 | 125 | 144 | 163 | 182 | 201 | 220 | 239 | 258 | 277 | 296 | 315 | 334 | 353 | 372 | 391
L2 61 80 99 118 | 137 | 156 | 175 | 194 | 213 | 232 | 251 | 270 | 289 | 308 | 327 | 346 | 365 | 384 | 403

44 www.kccpr.com



KCC Lﬁg% ES% (LE(? B10-KY series

=
S &80 E ¥E CEZE IIO|RE/FER)

AT |S
B10-KYMF ( ](18)(02]) - (05 -
od
£ L0|=
@ @ © @ He
3s
Zo| Akt
O AYEYA @ Al2|12 @ A KT100
2715 RC(PT) (EZ) 18] B10-KY18 Al2|= \ 02 2% KMFOT00
G G(PF) i 03 3¢
cs 08 UEfx| T/E © e P4 : : KY
02 | H{O| A B2+ \ 20 209

*OjLBCS 228 ZQ0|= 12 BE U BE B2} 2a8c KS105
HATHEIEO| DB S 228 L= G140] BI2{5{0] S 22t AL, 74210 SAEILICE KMFO500

seo|AtEEol OfLIBES 228 20l WS HaiLiA}, JIANR P52 o0 LR P HER 225 ZUAR.

=15 A _ L=
Q@24 / B10-KY18(H0]|A B2+, DHUZE) Ks210
KMF1000
KS320
DIN _E_l_ia KMF2000
P=19 17
2xn Rc(PT)1/4 7 7 n KS530
@zs \[| [] [° KMF3000
JeRoRoXoRe ko Bpy K640
o KMF4000
W WA W WWA)
QO ©

Eﬂ& ’éég&% @% T@ KS524

] o Kso34
PlolelolofEs
T2 3 e AR(M) o oo
988 KS328
o L2 ©0.6) EETBIVET
=z 6 L1 [ 412 =2 7tA3
<
= KS760
KS341
S KMF2341
mn
)
19 KS342
T KMF2342
£y
;F. b‘mv._' J{? |
IS m 1 d | sCF— KPS542
|
_ o5 ~| 7 KCAS
g R 1exO
m )
KIAS
KST
=4 Singl
= L Single § KS3135
24 Double
=
%M [ 2 [ 3 | 4 [ 5] 6 ] 7 8 91011 ] 121314 ]15] 16 | 17 | 18 | 19 | 20 K54000
LI | 49 | 68 | 8 106 125 144 163 | 182 201 | 220 | 239 258 277 | 296 | 315 334 | 353 | 372 391
12 61 | 80 | 99 | 118 137 156 175 194 | 213 | 232 | 251 270 | 289 | 308 327 | 346 | 365 384 403

www.kccpr.com - 45



